3PNy Jemoqg

‘ IDF BIE 242 Jaw shH-ER

iR

SHEE BEIE D 4-Jaw TI/IRE (2+2 Jaw)

FERA

BEMIKAER. EAHERTEIE
53146 Cylinder 100% 3% (7555 Double Cylinder)
KA 242 Jaw 4548, EIAME TR E

EBRhS5HENXR
IDF-210 / IDF-260 IDF-310 / IDF-380
140 220
—_— \
120 190 ™
I IDF-260 kIDF—%O
100 — 160 DF—310
. IDF-210 \ - \\
N NN
? 60 \ 5 100 \\ ™
> >
£ 2 £ 40
o o
> 0 > 0
1000 2000 3000 4000 5000 500 1000 1500 2000 2500 3000 3500
Speed : min™ (r,p.m.) Speed : min™ (r.p.m,)
X MNRMERALLARA Jaw AEHIF/T, SERIMEABIARL, BEARLVHRR Cylinder EHF1R,
IDF-210 IDF-260 IDF-310 IDF-380
Jaw Stroke 42 [mm] 52 6.2 6.2 6.2
[mm] +2 +2 +2 +2
HEZEITHE [mm] 10 12 12 12
AFRIERAHIN [KN(kgf)] 40(4081) 50(5102) 70(7143) 80(8163)
FFAIERAIERES (KN (kgf)] 100(10204) 130(13265) 180(18367) 220(22448)
AYFHIRARALEE [min'] 4000 3200 3000 2100
&R Cylinder Y-1225RE Y-1530RE Y-1530RE Y-2035RE
52 [kel 24 43 68 110
fBMES%E (kg m’] 0.14 039 0.88 22

X RFBRAFCRIATONE S o
¥ RS SHME IR R AT E R EL &,
¥ =FEHMITEF A Kitagawa FEfit OEM 4=,




it

QA
oC
DR

SHEE - @318~@300

KNT RERESD, FESXINDBR2IRI Lo

FFaR~

ll&
&

II

OC (tREER)

J (Max/Min)

K (Max/Min)

P(Max/Min)

| oo |
| J(axin)_|
| Kain)_|
[ &
| Pvaxhin)_|
| o |
| k|

IDF-210 IDF-260 IDF-310 IDF-380
210 260 310 380
100 120 127 135
170 220 220 300

1334 1714 1714 235
5 5 5 5
24 30 30 40
M12 M16 M16 M20
25 30 30 43
39/10 45/13 58/13 53/18
34.2/29 46.2/40 53.2/47 74.2/68
35 40 50 62
14 16 18 255
5 5 5 5
3 3 3 3
52/62 53/65 53/65 93/81
29 33 33 33
42 50 55 55
M16x80 M20x80 M20x80 M30x125
95 98 115 135
42 46 54 64
M12x30 M12x35 M14x45 M20x45

RELATED PRODUCT @]

Cylinder
116p

Power Chuck



BEhELD 2+2 Jaw BhHEE

E—S R, AR E S B IR R RS IAIE 3-Jaw S FENRRA. e AEN,
FIEH 4-Jaw(2+2) EH#2AE Double Cylinder,{B IDF #5314 Cylinder 100% #&.

3PNy Jemoqg

LR R
@ Jaw Lever @ Plunger
@ Seesaw ® BEE
@ Wedge Bar ® Master jaw

TIEEE

1. 242 Jaw BYIXzA
:0+0 & 0+0 BEHED

2. @i Seesaw, 41N TEXEH
3. @ 2, AMEELS
4, FEIZE

Self Centering | %7 10-2014-0092073

4—Jaw Chuck IDF—Chuck




02/ t3-Jaw i

@ @
' Indicator ndicator

IDF 4—Jaw(24-2)
THFABEERN1/10 SEHEER BRI 1/3

03 Jow BEMIHER T HEER

Standard 3—Jaw IDF 4—Jaw(2+2)

09/ FEIHEEERFREEAAER

Nt Vatit

HEM SRIH

~EEEEEET 1 041

Power Chuck



	动力卡盘 4
	动力卡盘 5
	IDF
	动力卡盘 2

	IDF
	动力卡盘 3


